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QUESTION 1

What do you need to configure to enable entries in the action log ofan equipment?

A. Select the time segment check box for the equipment category.

B. Define an additional business view for the equipment category.

C. Define the corresponding history-related field for the equipment reference category.
D. Activate the change documents for the equipment category.

Correct Answer: D

QUESTION 2

You want to schedule a performance-based maintenance plan. Which parameters are mandatory? Note: There are
2correct answers to this question.

A. Shift factors

B. Start counter reading

C. Estimated annual performance
D. Scheduling period

Correct Answer: BC

QUESTION 3

You create a revision for a maintenance event builder (MEB) scenario. Which of the following statements are correct?
Note: Thereare 2 correct answers to this question.

A. You can assign a network to a revision.

B. You must assign maintenance notifications to the revision.
C. You must use hierarchical task lists for the MEB scenario.
D. You can assign a hierarchical task list to the revision.

Correct Answer: BD

QUESTION 4
How does a performance-based maintenance plan calculate the interval between start date and planned date?

A. Cycle length divided by annual performance
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B. Cycle length divided by monthly performance
C. Cycle length divided by ((scheduling period) x (cycle modification factor))
D. Cycle length divided by (annual performance / 365)

Correct Answer: D

QUESTION 5

Which objects can you use in the safety measure list? Note: Thereare 2 correct answers to this question.
A. Work approval

B. Permits

C. Documents

D. Work clearance documents

Correct Answer: BC
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